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(5%)=a"=1 (%)



[2] (1) (55 = log, 5 + log, 3% — log, 270
5x 33
270

1
= log, 9= -1 (&)

= log,

(2) oy logy 5 logy b
(5-3%) Tog, 1 logy 5+ 2 g, 16
= %10g25—10g25+ %logzi’)
—0 (&)
(3) oy logs 9
(5-3X) = logs 5 Tog, 5

=log;9=2 (%)

3] 520N HBOEE 212252 5.
1=20

2>1ThHbLI b,
275 « 920 < 9% <21
1 1
(V2)™ = \/; <1<45 <8°% (&)
<l >

MNEEMATHS S EBHRD.

logy1 =0

1
log, 8%2% = = x 3 = 3

4 4 3
logy(v2)~% = ~3logy V2 = —3

2
log, 43 = =
089 23 3

1 3 3
log, \/;: logy 272 = —3

2>1THhHI LD,

(V2)™3 = \/g <1<45 <8%25 (%)
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a>0 @
Thh, L0,
%0, y*x0, 2%0
THoH7b,ax1ThHb. 22T, OBV, a ZEETIHIHNEE LD &,

rlog,2 =ylog,3 =zlog,5=1
1 1 1
- =log,2, - =log,3, - =log,5
x Y z

oT, @&0,
1

1 1
— 4+ =+ = =log, 2 +log, 3+ log, 5 = log, 30
r Yy =z

log,30 =2 =log,a’ <= a*=230

a=+v30
®LD, a>0THLHDT,
a=+v30 (%)
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[5] (1) N =210 L B<.
log;o N = 40 x log;, 2 = 40 x 0.3010 = 12.04
(logy 10" =) 12 < logyy N < 13 (= logy, 10"%)
1012 < N <108
1012 < 210 1013
£oT
1341 (&)
(2) N =150 &5<.

log;o N =10 x log;( 15
=10 x (logyg3 +log;p5) -+ ®

22T, logyh =logyy 3 =1—logyy2 = 0.6990
&, log;(3=04771% Q IZRAT B L,

log,o N = 10 x (0.4771 + 0.6990) = 11.761
(logyo 10M =)11 < log; o N < 12(= log;, 10'2)
10" < N < 102
10M <150 < 10%2
Lo T,

1241 (%)
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[6] (1) 22 +2 o=t &BLE,2>0,27">0 LD,

t>2V27 . 277 =2

(SEFHOTIE, 22 =272 X)), 2 =0 D& X)

X oT,
t=2 (%)
1
= (2°+277)2 -2-5(2°4+277)
t?2 — 5t — 2

_(,_5) _3
o 2 4
5

:h&@,%$ﬁd,€??%b,:@t%t=§
Ths (K1),

::T“,t:gk&éx%ﬂ?&)é.
g:2I+2—wf“,2I:XtTZ>}:,
1 5
X+—=2
+X 2
L72A%> T
2X2 —5X +2=(2X —1)(X —2) =0
1
X=—,2
27
£oT
1
2””:5,2 = ao=-1,1
L RBDT

m:L_awt%%mﬁ-i? ()
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1
[7] log,x +1log, 2 =log, = + =t &B<.
logy
r>14&0
logy x > 0

DT, t D&Y D) LEOHPAIX

1
t=2/logyx- =2

log, =
t=2 25D
1 =
082 logy
LB LET

(logaz)? =12%F 1 logyz = +1

DEEXTHDL. 2>1 40

T =2
ZnLE
f(z) = (logyx +log, 2)? —2 — 4(logy = + log, 2) + 1
= 2 -2-4t+1
= 2 —4t—1
(t—2)2 -5

EhS, flz) 3 t=2 TRME -5 %55, kot
BIME —5 (x=20c%) (%)
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[8] EEGettLIKD&MEND
x>0, zx1, y>0, yx1

1
oL &, &M log, y > T (log,yx0) &% %. DFD
2 _
(log, y)° —1 _
log, y

ZZT, log,y DIFATHED AT 5.
(i) log,y >0 DL &, F>0&L%5DT
(log,y +1)(log,y—1)>0 . log,y>1
(i) log,y <0 DEE, 3T <0&RDHDT
(log, v+ 1)(log,y —1) <0 S —=1<log,y<0
(i), (ii) £ b

—1<log,y <0, 1<log,y
log,, < log, vy < log, 0, log, x < log, vy

1
log, — <log,y <log, 1, log, z <log, vy
x
L72h5-> T
i) 0<z<lODEx
1
—-—>y>1, x>y
x
(i) 1<z D& X
1
—<y<l, z<y
x
INERRTAE, DL HIhD.

YA

y=1

1 x

I
7 I
I

7220, B R BR < (&)
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